\\ i ."ﬁtl
Algebra and Trigonometry — Exam 1 Name: T~ “YCean
MAT 150, Fall 2013 — D. Ivansié¢ Show all your work!
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1. (8pts) Use the graph of the function f ll
at right to answer the following questions. if

a) Find (1) and £(3). Ll)=4, £
b) What is the domain of f? [—4 ¢)
¢) What is the range of f7 =5 4

d) What are the solutions
of the equation f{z) =17 pES IIF

2. (10pts) The function |
flz) = a* — 62* + 5z — 7 is given. T /
a) Use your calculator to accurately (s '
sketch its praph. Draw the graph T
here, and indicate units on the axes. S R T T
— e | |

b) Find all the x— and y—intercepts J"/ﬁ\.\ I.f
(accuracy: 6 decimal points). 7t ERA R
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3. (4pts) Convert to scientific notation or a decimal number:
0.000034612= 3 417 x| 1347 x 10° = 73470

Use formulas Lo expand:

\ g ke e g % Ao
4. (dpts) (22 —TyY)(2x+Ty)= [(/x) - ey ) = Qi T7¢
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5. (4pts) (28 —2)2 = [ == g == ot e



Simplify, showing intermediate steps. Assume all variables are positive

7. (2pts) VOB = {TI“? 2 8. (5pts) /162285 =
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9. (8pts) Express AnSWers ﬁn:t in terms of pnmtm e:cpnnents then convert to root notation.
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10. (8pts) Simplify.
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11. (6pts) Rat.icrnalize the denominamr i
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12. (Spts) Write the equation of a circle whose diameter has endpoints A = (3, —2) and
B = (=5,0).
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13. (4pts) Solve the equation for b.
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14. (7pts) Let g(z) = x* — 3z + 1. Find the following (simplify where appropriate).
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notation.

15. (6pts) Find the domain of the function f(z) = — —7 and write it in interval
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16. (10pts) A business purchases a car for $26,000. For tax purposes, it is assumed that

the car will lose $3000 in value every year.
a) Write the linear function V(#) that expresses the value of the car after ¢ years.

b) Graph the function V(f) and find V(5).
¢) What is the meaning of the slope of the line V(¢)?
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Bonus (10pts) Find the equation of the circle that passes through points (—4,0), (4.0} and
(0,2). Hint: due to symmetry, the center must be on the y-azis.
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